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- IV Cislovky a matematické terminy

a) : integers [intidiez] = integral numbers (celd &fsla)

100 a (= one)  hundred
200 two hundred acM @ is an element of M
g,ggg " :ihree thi?hqsand : ﬁ' ={2,4, 6} M is the set with the elements 2, 4,6
,000, ve million ; =g M is an empty set (= '
328 ~ three hundred and twenty-eight 4<B Aisa suglsg:yo;eB( e
4,005 four thousand and five j c g 45111 is a proper subset of B
, , : 97 the union of 4 and B
7 'Ell;“;l‘}?glfgs ::gg{:; j{l n% ’tiieri(r;tersection of 4and B
- s ? ; X the Cartesian [ka:iti:Zon] product (= the Cross
ﬁlx dgzen [dazn] bottles (§est tuctit lahvi) A product) of 4 and B r ( :
£3 ~ three pounds ’ A~B 4 and B are equivalent [i'kwivelent] to each other
£ flto_75 ~ ten pounds and 75 pence e ~ (4 can be mapped on B biuniquely [,baiju:imi :kli})
6 ft. six feet : fractions a
6ft. 2in. six foot two inches . el ol >
128t ‘twelve stone ggg ?;; P‘;:E;’ e‘%,h.: mnethree
: , » , : nou int one thr
b)) 0 = [ou] (nula telefonnho &sla) o merat. .‘
= zero [zierou] (nula na méfidlech nebo v rovnicich) 3/2  three halves
= nought [no:t] (v &islech) o : 2 _two and a half
7 = nl  (vesportu) ~ one third ‘
: , : : e two thirds o
-0) . :ﬁg g::h lt;he second, the thnrd (1st, 2nd, 3rd) five over twenty-one
the fifth . two per cent [polsent] 5 o
* the fortieth [fo:tii0] R e B Gy ¥ procentech)

; 4,;& twfghtyﬁ tifth (225th)
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- (the fifth of January nineteen fifty-two) =
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b to the power of n

b to the power n
a-3 @ to the minus two power
b2 the square of b, b square(d), the second power of b
b3 the cube of b, b cubed, the third power of b

power exponent (mocnitel)

Je  the n-th root of ¢

3
/8  the square root of eight
index of a root (odmocnitel)

2 the imaginary square root of minus one
logp ¢ the logarithm [logerifm] of ¢ to the base b

In natural logarithm, “I”’ “n”
elementary functions

y = f(x) y equals f of »

x, Y variables [veariablz]
y - axis

curve[ka:v]
abscissa [aeblsisa]

graph of the function f with the general
ordinote . analytic expression y = f(x) plotted in
the rectangular system of co-ordinates

X-axis

- : ; L :
y =) axx* y equals the sum of @ (sub) k, = to the power of £,
£ taken from k equal to zero to k equal to four

sin x the sine [sain] of z
cos % the cosine of z
tan z the tangent [tendZent] of x

intervals and limits

(a, b) open interval ab
[a, b] ~ closed interval ab _
(a, b] half-open interval ab

X = (—o, + o) capital X equals the open interval mmus
: ~ infinite, plus infinite :

% > % % approaches z nought, # tends to nought
lim f(#) = L the limit of f of x as z tends to % one is capital L
a2 s

lim a, = 0 the limit of a sub n is zero as n tends to infinity

n—+0

@) =§ﬁ i

dy by dz

0z partial

integral calculus

[ f(@) dz=F(z)+ O,if
F'(z) = f(=z)

b—Az

m Y f(2x) Aw

Azx—0 Zr=a

: 3
=1 f@) ox

—FEk
= F(b)—Fla)= A

differential caloulus [kelkjulos] o
f@ + Az)—f(w) f prime (= dash) of  is the limit of

R

f of z plus delta 2 minus f of % over
delta  as delta x tends to zero

the first derivative [dirivetiv] of the sine of #
8 dot equals ds by d¢

d two y by dz squared

ly [pa:Seli] by 0%

the integral [intigrel] of small f of =
dz equals capital F of %, plus capital G,
iffcapital F prime of % is equal to small f
of % ;

the limit, for delta z tending to zero, of
the sum of small f of z sub & delta z
taken from # sub k equal to a to » sub &
equal to b minus delta z :

equals the integral from a to b of small
fof z dx ~ '

equals capital 7 of = between the limits
a and b : ,

equals capital ¥ of b minus capital F
of a equals capital 4




